
[7212]          Page 1 of 7                                                    

Roll No. .....................................                                                      Total Pages: 07 

 

7212 

M.Sc. II
nd

 Semester EXAMINATION, 2018 

CHEMISTRY 

Paper – II 

(Organic Chemistry-II) 

Time: Three Hours 

Maximum Marks: 80 
 

         PART – A ¼[k.M & v½¼[k.M & v½¼[k.M & v½¼[k.M & v½      [Marks: 20] 

Answer all questions (50 words each). 

All questions carry equal marks. 

lHkh iz’u vfuok;Z gSaA izR;sd iz’u dk mŸkj 50505050 'kCnksa ls vf/kd u gksA  

lHkh iz’uksa ds vad leku gSaA 

         PART – B ¼[k.M & c½¼[k.M & c½¼[k.M & c½¼[k.M & c½      [Marks: 40] 

Answer five questions (250 words each). 

Selecting one from each unit. All questions carry equal marks. 

izR;sd bdkbZ ls ,d&,d ,d&,d ,d&,d ,d&,d iz’u pqurs gq,] dqy ik¡p ik¡p ik¡p ik¡p iz’u dhft,A 

izR;sd iz’u dk mŸkj 250250250250 'kCnksa ls vf/kd u gksA 

lHkh iz’uksa ds vad leku gSaA 

           PART – C ¼[¼[¼[¼[k.M & l½k.M & l½k.M & l½k.M & l½      [Marks: 20] 

Answer any two questions (300 words each). 

All questions carry equal marks. 

    dksbZ nksnksnksnks    iz’u dhft,A izR;sd iz’u dk mŸkj 555500000000 'kCnksa ls vf/kd u gksA 

lHkh iz’uksa ds vad leku gSaA 
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PART – A /  [k.M[k.M[k.M[k.M    & v& v& v& v 

1. Answer all questions:- 

 lHkh iz’uksa ds mÙkj nhft,& 

 (i) Define chirality.    (2) 

  fdjSyrk dks ifjHkkf"kr dhft,A  

 (ii) Describe Elements of symmetry in brief.    (2) 

  lefefr rRoksa dk la{ksi esa o.kZu dhft,A 

 (iii) Explain the stereochemistry of decalin.    (2) 

  Msdkyhu ds f=foe jlk;u dks le>kb;sA 

 (iv) Explain the conformation of n-butane.    (2) 

  n-C;wVsu ds dkWuQesZ’ku dks le>kb;sA 

 (v) Give one example of following rearrangements involving-    (½×4=2) 

  (a)  Migration of electron deficient carbon 

  (b) Migration of electron deficient nitrogen 

  (c) Migration of electron deficient oxygen 

  (d) Cyclopropanone intermediate 

  fuEu iqufoZU;klksa dk ,d mnkgj.k nhft,] ftuesa gksrk gS& 

  (a)  bysDVªkWu U;wu dkcZu dk izoklu 

  (b)  bysDVªkWu U;wu ukbVªkstu dk izoklu 

  (c)  bysDVªkWu U;wu vkWDlhtu dk izoklu 

  (d)  lkbDyksizksisuksu e/;orhZ 

 (vi) Discuss the memory effects in brief.    (2) 

  eseksjh izHkkoksa dh laf{kIr esa O;k[;k dhft,A 

 (vii) Give one application of L.D.A.    (2) 

  LDA dk ,d vuqiz;ksx nhft,A 

 (viii) How will you convert Ethane into Ethanediol?    (2) 

  ,sFkhu dks ,sFksu MkbvkWy esa dSls ifjofrZr djksxs\  
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 (ix) Draw the  π-molecular orbital’s of 1, 3- butadiene and mention the HOMO and 

LUMO in excited state.        (1+1=2) 

  1]3&c;wVkMkbbZu ds π&vkf.od d{kdksa dk fp= cukb;s vkSj muesa mÙksftr voLFkk 

 esa HOMO vkSj LUMO dks fpfUgr dhft,A    

 (x) Discuss conrotatory and disrotatory motion.        (1+1=2) 

  dksujksVsVjh vkSj fMljksVsVjh xfr dh foospuk dhft,A 

PART – B /  [k.M[k.M[k.M[k.M    & & & & cccc 

UNIT –I 

2. Write short notes on-                 (4×2=8) 

 (a) Enantiotopic and diastereotopic groups 

 (b) Homotopic and heterotopic faces 

 laf{kIr fVIi.kh fyf[k,& 

 (a) busfU’k;ksVksfid vkSj MkbfLVfj;ksVksfid lewg 

 (b) gkseksVksfid vkSj gsVsjksVksfid ry 

3. Give the difference in following-           (4×2=8) 

 (a) DL and RS nomenclature 

 (b) Enantiomer and diastereo isomers 

 fuEu esa varj nhft,& 

 (a) DL vkSj RS ukedj.k 

 (b) izfrfcEc :ih leko;oh vkSj vizfrfcEc :ih leko;oh 

UNIT –II 

4. What is baeyer’s strain theory? Why cyclohaxane is more stable than   

cyclopentane?            (4+8=8) 

 cs;j dk ruko fl)kUr D;k gS\ lkbDyksisUVsu dh rqyuk esa lkbDyksgsDlsu vf/kd LFkk;h 

D;ksa gS\ 
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5.  What do you understand by conformation? Discuss the conformation of 1,2-, 1,3- 

and 1,4- dimethyl cyclohexane.   (2+2+2+2=8) 

 dkWUQesZ’ku ls vki D;k le>rs gSa\ 1,2-, 1,3- vkSj 1,4- MkbesfFky lkbDyksgsDlsu ds 

dkWUQesZ’ku dh foospuk dhft,A 

UNIT –III 

6. Explain the following-            (4×2=8) 

 (a) Meervein rearrangement 

 (b) Beckmann rearrangement 

 fuEu dks le>kb;s& 

 (a) ehjosu iqufoZU;kl 

 (b) cSdeSu iqufoZU;kl 

7.  Write the product and give the name of rearrangement taking place in following 

reactions.           (2×4=8)  

 fuEu vfHkfØ;kvksa esa mRikn dk uke vkSj gksus okys iqufoZU;kl dk uke fyf[k,A 

 (a)  
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UNIT –IV 

8. Explain the use of following reagents in organic synthesis-        (3+3+2=8) 

 (a) Lithium Dimethyl cuprate 

 (b) Dichloro hexyl carbodimide 

 (c) 1,3 – dithiane 

 fuEu vfHkdeZdksa dk dkcZfud la’ys"k.k esa mi;ksx le>kb;s& 

 (a) fyfFk;e MkbesfFky D;wizsV 

 (b) MkbDyksjksgsfDly dkcksZMkbbekbM 

 (c) 1]3 MkbFkk¡,su 

9. Give synthetic use of following reagents.           (3+2+3=8) 

 (a) Gilman’s Reagent 

 (b) Osmium tetra oxide 

 (c) Baker yeast  

 fuEu vfHkdeZdksa ds la’ysf"kd mi;ksx nhft,A 

 (a) fxyeSu vfHkdeZd 

 (b) vkWfLe;e VsVªk vkWDlkbM 

 (c) csdj ;hLV 

UNIT –V 

10. Explain the following-           (4×2=8) 

 (a) Antarafacial and Suprafacial addition 

 (b) 1,3- dipolar addition 

 fuEu dks le>kb;s& 

 (a) vUrjkQsf’k;y vkSj lqizkQsf’k;y ;ksx 

 (b) 1]3& f}/kzqoh; ;ksx 
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11. Discuss the following in detail-            (4×2=8) 

 (a) Cheletropic reaction 

 (b) Fluxional tautomerism 

 fuEu dks foLrkj ls le>kb;s& 

 (a) fdysVªksfid vfHkfØ;k 

 (b) ¶yfDlvksuy pyko;ork 

PART – C /  [k.M[k.M[k.M[k.M    & & & & llll 

12. Explain the following in detail-      (3+3+4=10) 

 (a) Optical activity in the absence of chiral carbon 

 (b) Stereo specific synthesis 

 (c) Methods of resolution 

 fuEu dks foLrkj ls le>kb;s& 

 (a) fdjSy dkcZu dh vuqifLFkfr esa izdkf’kd lfØ;rk 

 (b) f=foe fof’k"V la’ys"k.k 

 (b) fo’ys"k.k dh fof/k;k¡ 

13. Write notes on-          (5+5=10) 

 (a) Cotton effect 

 (b) Octane rule 

 fVIi.kh;k¡ fyf[k,& 

 (a) dkWVu izHkko 

 (b) vkWDVsu fu;e 

14. Write notes on following-         (5+5=10) 

 (a) Migratory aptitude 

 (b) Pinacol-Pinacolone rearrangement  

 fuEu ij fVIi.kh fyf[k,& 

 (a) izoklh ;ksX;rk 

 (b) fiusdksy& fiusdksyksu iqufoZU;kl 
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15. (a) Write a note on reagents containing silicon that are used in organic       

synthesis.          (6+4=10) 

 (b) Write a note on merrifield resin 

 (a) dkcZfud la’ys"k.k esa mi;ksx esa vkus okys vfHkdeZd ftuesa flfydu gksrk gS] ij 

fVIi.kh fyf[k,A 

 (b) esjhfQYM jsft+u ij fVIi.kh fyf[k,A 

16. Describe the following in detail-      (4+3+3=10) 

 (a) FMO approach to Electrolytic reactions 

 (b) Sigmatropic rearrangement 

 (c) 2+2 addition of ketenes 

 fuEu dk foLrkj ls o.kZu dhft,& 

 (a) bysDVªks pØh; vfHkfØ;kvksa esa FMO n`f"Vdks.k 

 (b) flXekVªksfid iqufoZU;kl 

 (c) dhVhu dk 2$2 ;ksx  

-------------------------------------------- 


